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1. Rakesh can do a piece of work in 20 days. How much work can he do in 4 days?

Solution:

The given details are,

Time taken by Rakesh to do a piece of work is 20 days

Work done by Rakesh in 1 day = 1/20

Work done by Rakesh in 4 days = 4 × 1/20

= 1/5

∴ 1/5th work can be done by Rakesh in 4days.

2. Rohan can paint 1/3 of a painting in 6 days. How many days will he take to complete
painting?

Solution:

The given details are,

Number of days taken by Rohan for painting 1/3 of painting is 6 days

Number of days taken by Rohan to complete the painting = 6/(1/3)

= 6 × 3 = 18

∴ Rohan can complete painting in 18days.

3. Anil can do a piece of work in 5 days and Ankur in 4 days. How long will they take do
the same work, if they work together?

Solution:

The given details are,

Anil can do a piece of work in 5 days

Work done by Anil in 1 day = 1/5

Ankur can do same work in 4 days
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Work done by Ankur in 1 day = 1/4

Work done by both in 1 day = 1/5 + 1/4

= (5+4)/20 (by taking LCM for 5 and 4 which is 20)

= 9/20

∴ Total work done together is 1/(9/20) = 20/9 = 229229 days.

4. Mohan takes 9 hours to mow a large lawn. He and Sohan together can mow in 4 hours.
How long will Sohan take to mow the lawn if he works alone?

Solution:

The given details are,

Mohan can mow a lawn in 9 hours.

Work done by Mohan in 1 hour = 1/9

Mohan and Sohan can mow the lawn together in = 4 hours

Work done by Mohan and Sohan together in 1 hour = 1/4

We know that,

Work done by Sohan in 1 hour = (work done by together in 1 hour) – (work done by Mohan in 1
hr)

= 1/4 – 1/9

= (9-4)/36 (by taking LCM for 4 and 9 which is 36)

= 5/36

∴ Time taken by Sohan to complete the work = 1/(5/36) = 36/5hours.

5. Sita can finish typing a 100 page document in 9 hours, Mita in 6 hours and Rita in 12
hours. How long will they take to type a 100 page document if they work together?

Solution:

The given details are,
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Work done by Sita in 1 hour = 1/9

Work done by Mita in 1 hour = 1/6

Work done by Rita in 1 hour = 1/12

Work done by Sita, Mita and Rita together in 1 hour = 1/9 + 1/6 + 1/12

= (4+6+3)/36 (by taking LCM for 9, 6 and 12 which is 36)

= 13/36

∴ Time taken by all three together to complete the work = 1/(13/36) = 36/13 hours.

6. A, B and C working together can do a piece of work in 8 hours. A alone can do it in 20
hours and B alone can do it in 24 hours. In how many hours will C alone do the same
work?

Solution:

The given details are,

A can do a piece of work in 20 hours

Work done by A in 1 hour = 1/20

B can do same work in = 24 hours

Work done by B in 1 hour = 1/24

A, B and C working together can do the same work in = 8 hours

Work done by A, B, C together in 1 hour = 1/8

We know that,

Work done by C in 1 hour = (work done by A,B and C in 1 hour) – ( work done by A And B in 1
hr.)

= 1/8 – (1/20 + 1/24)

= 1/8 – 11/120

= (15-11)/120 (by taking LCM for 8 and 120 which is 120)
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= 4/120

= 1/30

∴ Time taken by C alone to complete the work = 1/(1/30) = 30hours.

7. A and B can do a piece of work in 18 days; B and C in 24 days and A and C in 36 days.
In what time can they do it, all working together?

Solution:

The given details are,

A and B can do a piece of work in = 18 days

Work done by A and B in 1 day = 1/18

B and C can do a piece of work in = 24 days

Work done by B and C in 1 day = 1/24

A and C can do a piece of work in = 36 days

Work done by A and C in 1 day = 1/36

By adding A, B and C we get,

2(A+B+C) one day work = 1/18 + 1/24 + 1/36

= (4+3+2)/72 (by taking LCM for 18, 24 and 36 which is 72)

= 9/72

= 1/8

A+B+C one day work = 1/(8×2) = 1/16

∴ A, B and C together can finish the work in = 1/(1/16) = 16days.

8. A and B can do a piece of work in 12 days; B and C in 15 days; C and A in 20 days.
How much time will A alone take to finish the work?

Solution:
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The given details are,

A and B can do a piece of work in = 12 days

Work done by A and B in 1 day = 1/12

B and C can do a piece of work in = 15 days

Work done by B and C in 1 day = 1/15

A and C can do a piece of work in = 20 days

Work done by A and C in 1 day = 1/20

By adding A, B and C we get,

2(A+B+C)’s one day work = 1/12 + 1/15 + 1/20

= (5+4+3)/60 (by taking LCM for 12, 15 and 20 which is 60)

= 12/60

= 1/5

A+B+C one day work = 1/(5×2) = 1/10

We know that,

A’s 1 day work = (A+B+C)’s 1 day work – (B+C)’s 1 day work

= 1/10 – 1/15

= (3-2)/30 (by taking LCM for 10 and 15 which is 30)

= 1/30

∴ A alone can finish the work in = 1/(1/30) = 30days.

9. A, B and C can reap a field in 15 ¾ days; B, C and D in 14 days; C, D and A in 18 days;
D, A and B in 21 days. In what time can A, B, C and D together reap it?

Solution:

The given details are,
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A, B and C can reap the field in = 15 ¾ days = 63/4 days

(A, B and C)’s 1 day work =1/(63/4) = 4/63

B, C and D can reap the field in = 14 days

B, C and D’s 1 day work = 1/14

C, D and A can reap the field in = 18 days

C, D and A’s 1 day work = 1/18

D, A and B can reap the field in = 21 days

D, A and B’s 1 day work = 1/21

Now adding (A+B+C+D),

3[A+B+C+D] = 4/63 + 1/14 + 1/18 + 1/21

= (8+9+7+6)/126

= 30/126

= 5/21

(A+B+C+D) = 5/(21×3) = 5/63

∴ A, B, C and D together can reap the field in = 1/(5/63) = 63/5 = 12351235 days.

10. A and B can polish the floors of a building in 10 days. A alone can do ¼th of it in 12
days. In how many days can B alone polish the floor?

Solution:

The given details are,

A and B can polish a building in = 10 days

Work done by A and B in one day = 1/10

A alone can do 1/4 th of work in = 12 days

A’s 1 day work = 1/(4×12) = 1/48
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We know that,

B’s 1 day work = (A+B)’s 1 day work – A’s 1 day work

= 1/10 – 1/48

= (48-10)/480 (by taking LCM for 10 and 48 which is 480)

= 38/480

= 19/240

∴ B alone can polish the floor in = 1/(19/240) = 240/19 = 121219121219 days.

11. A and B can finish a work in 20 days. A alone can do 1/5th of the work in 12 days. In
how many days can B alone do it?

Solution:

The given details are,

A and B can finish a work in = 20 days

(A+ B)’s 1 day work = 1/20

A can finish 1/5 th of work in = 12 days

A’s 1 day work = 1/(5×12) = 1/60

We know that,

B’s 1 day work = (A+B)’s 1 day work – A’s 1 day work

= 1/20 – 1/60

= (3-1)/60

= 2/60

= 1/30

∴ B alone can finish the work in = 1/(1/30) = 30days.
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12. A and B can do a piece of work in 20 days and B in 15 days. They work together for 2
days and then A goes away. In how many days will B finish the remaining work?

Solution:

The given details are,

A and B can do a piece of work in = 20 days

Work done by A and B in 1 day = 1/20

B can do a piece of work in = 15 days

B’s 1 day work = 1/15

A and B work for 2 days, hence work done by them in 2 days = 2 × 1/20 = 1/10

Remaining work = 1 – 1/10 = 9/10

∴ B can finish the remaining (9/10) work in = (9/10)/15 = 135/10 = 13 ½ days.

13. A can do a piece of work in 40 days and B in 45 days. They work together for 10 days
and then B goes away. In how many days will A finish the remaining work?

Solution:

The given details are,

A can do a piece of work in = 40 days

A’s 1 day work = 1/40

B can do a piece of work in = 45 days

B’s 1 day work = 1/45

(A+B)’s 1 day work together = 1/40 + 1/45

A+B’s 10 day work together = 10 (1/40 + 1/45)

= 10 ((9+8)/360) (by taking LCM for 40 and 45 which is 360)

= 10 × 17/360
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= 17/36

Remaining work = 1 – 17/36

= (36 – 17)/36

= 19/36

∴ A can finish the remaining (19/36) work in = (19/36)/(1/40)

= (19/36) × 40

= 190/9

= 21192119 days

14. Aasheesh can paint his doll in 20 minutes and his sister Chinki can do so in 25
minutes. They paint the doll together for five minutes. At this juncture, they have a
quarrel and Chinki withdraws from painting. In how many minutes will Aasheesh finish
the painting of the remaining doll?

Solution:

The given details are,

Aasheesh can paint his doll in = 20 minutes

Aasheesh can paint his doll in 1 minute = 1/20

Chinki can paint the same doll in = 25 minutes

Chinki can paint the same doll in 1 minute = 1/25

Together they both can paint the doll in 1 minute = 1/20 + 1/25

= (5+4)/100 (by taking LCM for 20 and 25 which is 100)

= 9/100

Work done by them in 5 minute = 5 × 9/100

= 9/20

Remaining work = 1 – 9/20
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= (20-9)/20

= 11/20

∴ Aasheesh can paint the remaining doll in = (11/20)/(1/20)

= 11/20 × 20

= 11minutes

15. A and B can do a piece of work in 6 days and 4 days respectively. A started the work,
worked at it for 2 days and then was joined by B. Find the total time taken to complete the
work.

Solution:

The given details are,

A can do a piece of work in = 6 days

A’s 1 day work = 1/6

B can do a piece of work in = 4 days

In 2 days the work completed by A = 2 × 1/6 = 1/3 part of work

Remaining work = 1 – 1/3

= (3-1)/3

= 2/3

A and B can finish the remaining work in = (2/3)/(1/6 + 1/4)

= (2/3)/(5/12)

= (2×12)/(3×5)

= 8/5 days

∴ Total time taken to complete the work by A and B = 2 + 8/5

= (10+8)/5 = 18/5
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= 3 3/5 days

16. 6 men can complete the electric fitting in a building in 7 days. How many days will it
take if 21 men do the job?

Solution:

The given details are,

6 men can complete the job in = 7 days

1 man can complete the job in = 6 × 7 = 42 days

∴ 21 men can complete the job in = 42/21 = 2 days

17. 8 men can do a piece of work in 9 days. In how many days will 6 men do it?

Solution:

The given details are,

8 men can do a piece of work = 9 days

1 man can complete a piece of work in = 8 × 9 = 72 days

∴ 6 men can complete the work in = 72/6 = 12 days

18. Reema weaves 35 baskets in 25 days. In how many days will she weave 55 baskets?

Solution:

The given details are,

Reema weaves 35 baskets in = 25 days

Time taken by Reema to weave 1 basket = 25/35

∴ Time taken by Reema to weave 55 baskets = 25/35 × 55

= 5/7 × 55

= 275/7

= 39273927 days
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19. Neha types 75 pages in 14 hours. How many pages will she type in 20 hours?

Solution:

The given details are,

Number of pages Neha can type in 14 hours = 75 pages

Number of pages Neha can type in 1 hour = 75/14

∴ Number of pages Neha can type in 20 hours = 20 × 75/14

= 750/7

= 1071710717 pages

20. If 12 boys earn Rs 840 in 7 days, what will 15 boys earn in 6 days?

Solution:

The given details are,

Earning of 12 boys in 7 days = Rs 840

Earning of 12 boys in 1 day = Rs 840/7

= Rs 120

Earning of 1 boy in 1 day = 120/12 = Rs 10

Earning of 1 boy in 6 days = 10 × 6 = Rs 60

∴ Earning of 15 boys in 6 days = 60 × 15 = Rs 900

21. If 25 men earn Rs 1000 in 10 days, how much will 15 men earn in 15 days?

Solution:

The given details are,

In 10 days 25 men can earn = Rs.1000

In 1 day 25 men can earn = 1000/10 = Rs 100
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In 1 day 1 man can earn = 100/25 = Rs 4

In 15 days 1 man can earn = 15 × 4 = Rs 60

∴ In 15 days 15 men can earn = 60 × 15 = Rs 900

22. Working 8 hours a day, Ashu can copy a book in 18 days. How many hours a day
should he work so as to finish the work in 12 days?

Solution:

The given details are,

Working 8 hours a day, Ashu can complete a work in = 18 days

Working 1 hour a day, Ashu can complete the work in = 18 × 8 = 144 days

∴ Number of hours Ashu should work to complete the work in 12 days = 144/12 = 12 hours/day

23. If 9 girls can prepare 135 garlands in 3 hours, how many girls are needed to prepare
270 garlands in 1 hour?

Solution:

The given details are,

In 3 hours, 9 Girls can prepare = 135 garlands

In 1 hour, 9 girls can prepare = 135/3 = 45 garlands

In 1 hour, 1 girl can prepare = 45/9 = 5 garlands

∴ In 1 hour, Number of girls required to prepare 270 garlands = 270/5 = 54 girls

24. A cistern can be filled by one tap in 8 hours, and by another in 4 hours. How long will
it take to fill the cistern if both taps are opened together?

Solution:

The given details are,

A cistern can be filled by one tap in = 8 hours

A cistern filled by one tap in 1 hour = 1/8
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Another cistern can be filled in = 4 hours

Cistern filled by another tap in 1 hour = 1/4

Total cistern filled in 1 hour = 1/4 + 1/8

= (2+1)/8

= 3/8

∴ Cistern can be filled when both the taps are opened together in = 8/3 = 223223 hours

25. Two taps A and B can fill an overhead tank in 10 hours and 15 hours respectively.
Both the taps are opened for 4 hours and then B is turned off. How much time will A take
to fill the remaining tank?

Solution:

The given details are,

Tap A can fill the tank in = 10 hours

Tap A can fill the tank in 1 hour = 1/10

Tap B can fill the tank in = 15 hours

Tap B can fill the tank in 1 hour = 1/15

Both taps together can fill the tank in 1 hour = 1/10 + 1/15

= (3+2)/30 = 5/30

= 1/6

Both taps together can fill the tank in 4 hours = 4 × 1/6 = 2/3

Remaining tank to be filled = 1 – 2/3

= (3-2)/3

= 1/3

∴ Time taken by A to fill the remaining tank = (1/3)/(1/10)
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= 10/3

= 313313 hours

26. A pipe can fill a cistern in 10 hours. Due to a leak in the bottom it is filled in 12 hours.
When the cistern is full, in how much time will it be emptied by the leak?

Solution:

The given details are,

When there is no leakage A pipe can fill the cistern in = 10 hours

In 1 hour without leakage A pipe can fill the cistern in = 1/10 hours

When there is leakage cistern gets filled in = 12 hours

In 1 hour, when there is leakage cistern gets filled in = 1/12 hours

In 1 hour, due to leakage cistern gets filled to = 1/10 – 1/12

= (12-10)/120

= 2/120

= 1/60 part

∴ Due to leakage the cistern gets emptied in = 1/(1/60) = 60 hours.

27. A cistern has two inlets A and B which can fill it in 12 hours and 15 hours
respectively. An outlet can empty the full cistern in 10 hours. If all the three pipes are
opened together in the empty cistern, how much time will they take to fill the cistern
completely?

Solution:

The given details are,

Inlet A can fill the cistern in = 12 hours

Inlet A can fill the cistern in 1 hour = 1/12

Inlet B can fill the cistern in = 15 hours
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Inlet B can fill the cistern in 1 hour = 1/15

Outlet pipe can empty the cistern in = 10 hours

Outlet pipe can empty the cistern in 1 hour = 1/10

So we have, (1/12 + 1/15) – 1/10

= (9/60) – 1/10

= (9-6)/60

= 3/60

= 1/20 part

∴ When all 3 pipes are opened together to empty the cistern, time taken to fill the cistern
completly = 1/(1/20) = 20 hours

28. A cistern can be filled by a tap in 4 hours and emptied by an outlet pipe in 6 hours.
How long will it take to fill the cistern if both the tap and the pipe are opened together?

Solution:

The given details are,

Inlet tap can fill a cistern in = 4 hours

Inlet tap can fill a cistern in 1 hour = 1/4

Outlet tap can empty the cistern in = 6 hours

Outlet tap can empty the cistern in 1 hour = 1/6

Work done by both pipe in 1 hour = (1/4 – 1/6)

= (3-2)/12

= 1/12

∴ When both tap and pipe are opened together the cistern can be filled in = 1/(1/12) = 12
hours.
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Chapterwise RD Sharma
Solutions for Class 8 Maths :

● Chapter 1–Rational Numbers

● Chapter 2–Powers

● Chapter 3–Squares and Square Roots

● Chapter 4–Cubes and Cube Roots

● Chapter 5–Playing with Numbers

● Chapter 6–Algebraic Expressions and Identities

● Chapter 7–Factorization

● Chapter 8–Division of Algebraic Expressions

● Chapter 9–Linear Equation in One Variable

● Chapter 10–Direct and Inverse Variations

● Chapter 11–Time and Work

● Chapter 12–Percentage

● Chapter 13–Profit, Loss, Discount and Value Added Tax (VAT)

● Chapter 14–Compound Interest

● Chapter 15–Understanding Shapes- I (Polygons)
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● Chapter 16–Understanding Shapes- II (Quadrilaterals)

● Chapter 17–Understanding Shapes- III (Special Types of

Quadrilaterals)

● Chapter 18–Practical Geometry (Constructions)

● Chapter 19–Visualising Shapes

● Chapter 20–Mensuration - I (Area of a Trapezium and a

Polygon)

● Chapter 21–Mensuration - II (Volumes and Surface Areas of a

Cuboid and a cube)

● Chapter 22–Mensuration - III (Surface Area and Volume of a

Right Circular Cylinder)

● Chapter 23–Data Handling - I (Classification and Tabulation of

Data)

● Chapter 24–Data Handling - II (Graphical Representation of

Data as Histogram)

● Chapter 25–Data Handling - III (Pictorial Representation of

Data as Pie Charts or Circle Graphs)

● Chapter 26–Data Handling - IV (Probability)

● Chapter 27–Introduction to Graphs
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About  RD Sharma

RD Sharma isn't the kind of author you'd bump into at lit fests. But his

bestselling books have helped many CBSE students lose their dread of

maths. Sunday Times profiles the tutor turned internet star

He dreams of algorithms that would give most people nightmares. And,

spends every waking hour thinking of ways to explain concepts like 'series

solution of linear differential equations'. Meet Dr Ravi Dutt Sharma —

mathematics teacher and author of 25 reference books — whose name

evokes as much awe as the subject he teaches. And though students have

used his thick tomes for the last 31 years to ace the dreaded maths exam,

it's only recently that a spoof video turned the tutor into a YouTube star.

R D Sharma had a good laugh but said he shared little with his on-screen

persona except for the love for maths. "I like to spend all my time thinking

and writing about maths problems. I find it relaxing," he says. When he is

not writing books explaining mathematical concepts for classes 6 to 12 and

engineering students, Sharma is busy dispensing his duty as vice-principal

and head of department of science and humanities at Delhi government's

Guru Nanak Dev Institute of Technology.
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